SN DSUNY
ol NYnSed
Sl BAsE =3 CERED
SA-BH . (BH) - HIRAY - BES Off &+ o4 J) &let HDnz2
DEYHY 2,934,971 2,945,671 ~10,700
= 180,000 0 180,000
= 15,000 15,000 0
2 2,739,971 2,930,671 190,700
NEIEEIES 2,922,971 2,933,671 A10,700
= 180,000 0 180,000
= 15,000 15,000 0
2 2,727,971 2,918,671 190,700
Zysts =3 462,046 162,046 300,000
= 180,000 0 180,000
2 282,046 162,046 120,000
BMSETA ZAEAIY 300,000 0 300,000
= 180,000 0 180,000
2 120,000 0 120,000
201 Yer2gy| 254,400 0 254,400
= 158,640 0 158,640
2 95,760 0 95,760
01 At 22l 207,400 0 207,400
O Ls+gY| 188,200 0 188,200
— sty 2YYl N 188,200 0 188,200
2 120,120 0 120,120
2 68,080 0 68,080
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2 DRUHE
B QoinsYH

Crol: Bty 7 CLRE

SA B EA(E) - NRAY - B2 0 & o4 p[EE HlRE2

O 2d+4 19,200 0 19,200

— JACHAZT R ZAE 19,200 0 19,200

= 11,520 0 11,520

i 7,680 0 7,680

02 ==2gl 2,000 0 2,000

O 2Z22 % WA 2,000 0 2,000

— MBS ST AIES e Haldl 2,000,000& =« 13 2,000 0 2,000

03 &Ar2ZHI 45,000 0 45,000

O "ddsis2tet =X - MOILE =& 45,000,000& * 14 45,000 0 45,000

= 27,000 0 27,000

i 18,000 0 18,000

202 Oidl 10,000 0 10,000

03 =20l 10,000 0 10,000

O BHUS2AL o= 2,500,000& * 49 10,000 0 10,000

207 AN 3,600 0 3,600

= 2,160 0 2,160

i 1,440 0 1,440

02 & AHHE] 3,600 0 3,600

O HMstsE Al EHOIX SXE 300,000& = 123 3,600 0 3,600

= 2,160 0 2,160

i 1,440 0 1,440

301 et a3 2,000 0 2,000

= 1,200 0 1,200
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SN DRLHE
Ha: NoDSLd
Sl BAsE =3 (B9 & 2)
SA B (BH) - MRAY - B2 Ofl At o J| & o Hnz2
301 LA 2 800 0 800
10 SAAEI 243 2,000 0 2,000
O HIBUSISER 20} 50,0008 * 102 * 42 2,000 0 2,000
= 1,200 0 1,200
= 800 0 800
308 MXISHSOIH 30,000 0 30,000
=2 18,000 0 18,000
2 12,000 0 12,000
06 DEIIBUHEZES 30,000 0 30,000
O masts TIY 29y N 30,000,0002 * 14 30,000 0 30,000
2 18,000 0 18,000
= 12,000 0 12,000
Aol 4 1,341,880 1,652,580 A310,700
= 15,000 15,000 0
2 1,326,880 1,637,580 ~310,700
DECH o 245 9,300 4,500 4,800
201 Ysr2Hy| 4,800 0 4,800
01 ArRE2IH] 4,800 0 4,800
O YBr=gH| 4,800 0 4,800
— =EED o MR 600,002 * 8} 4,800 0 4,800
S BANE A 698,500 1,064,000 365,500
308 RXISHHSO0IH 698,500 1,064,000 365,500
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